Soluciones de los ejercicios para practicar

—AxP+7x*-17x%-35x+15
Cociente=2x-17/2,

resto= ﬁ X —-22
2

6. Cociente 3 -6 13 resto -30
. 3i5°5 58T V=057
8. a) m=61/20,
b) No puede ser divivisible entre x-5
9. a) 4x?+12x+9
b) 8x3-12x%+6x-1
c) X*-6x+9
d) x3+6x%+12x+8
10. a) (x+2)2-52=(x+2+5)-(x+2-5);
-7y 3
b) (x-5)>-4°=(x-5+4)-(x-5-4);1y 9
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3X+6
X—-2

b)

2x+1

(o3
)6x—3

a) 4x* (x+3)-(x+1)-(x-1)

b) 3x°-(x+2)?-(x-1)

c) 12-(x+2/3)-(x-3/2)-(x-1/2)
d) (x-1/2)-(8x?-16x+14)

5 —2\5).()( 5 +2«/§

e) (X+ %)-2- (x - )

a) (x*+36)-(x+6)-(x-6)

b) (2+x+12)-(x-4)-(x+3)
®) Ce e
4-(x+1)-(x-1)-(x-4)

Soluciones
AUTOEVALUACION

12 28 1 -5

Cociente 6x-5, resto —18x+19
1 12 48 64

No, (2x+5)?=4x%+20x+25
m=16
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